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. T·VA� ­CAb� (∀𝑥 ∈ R*) 𝑥 +
1
𝑥

≥ 2
:  � �y� , Tyqyq�  �d�� 𝑑 ¤ 𝑐 ¤ 𝑏 ¤ 𝑎 �kt� /2

. T·VA� ­CAb�

⎧⎪⎨⎪⎩𝑎 ̸= 𝑏

𝑐 ̸= 𝑑
=⇒ 𝑎 + 𝑐 ̸= 𝑏 + 𝑑

Ty�Attm�� �A��zltF³� �Am`tF�� �¯dtF³� : 5 �§rm�

 � �y� , R �� 𝑥 �ky� /1
2 ≺ 𝑥 ≺ 4 =⇒

1
3

≺
1

𝑥 − 1
≺ 1

:  � �y� /2

(∀𝑥 ∈ R+)
1

1 +
√

𝑥
= 1 −

√
𝑥 =⇒ 𝑥 = 0

:  � �y� /3

𝑎2 + 𝑏2 = 0 =⇒ 𝑎 = 0 ¤ 𝑏 = 0
:  � �y� , R+

�� 𝑦 ¤ 𝑥 �ky� /4
(𝑥 + 𝑦 + 2 = 2

√
𝑥 + 2√

𝑦) =⇒ 𝑥 = 𝑦 = 1
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𝑎2 + 𝑏2 = 1 : �y�� �yyqyq� �§ d� 𝑏 ¤ 𝑎 �ky� /1
| 𝑎 + 𝑏 |≤

√
2 :  � �y�

| 𝑥 |≺ 1 ¤ | 𝑎 |≺ 1 : �y�� R �� 𝑥 ¤ 𝑎 �ky� /2
:  � �y� (𝑎)

| 𝑎𝑥2 + 𝑥 − 𝑎 |≤ | 𝑎 || 𝑥2 − 1 |+ | 𝑥 |
:  � ��ntF� (𝑏)

| 𝑎𝑥2 + 𝑥 − 𝑎 |≺ −𝑥2+ | 𝑥 | +1
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| 𝑎𝑥2 + 𝑥 − 𝑎 |≺
5
4
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: T� A`m�� R ¨� �� /1
𝑥2− | 𝑥 − 2 | +5 = 0

: Tm\n�� �� /2⎧⎪⎨⎪⎩2 | 𝑥 − 1 | −𝑦 = 4

| 𝑥 | +2𝑦 = 6
Amh� 3  d`l� ��AS� 𝑛(𝑛 + 1)(𝑛 + 2)  � �y� /3
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(∀𝑥 ∈ R)

√︀
𝑥2 + 1 + 𝑥 ≻ 0 :  � �y� /4
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 � �y� /1
∀𝑛 ∈ N ( ©Ðr� 𝑛2
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:  � �y� ; R �� 𝑦 ¤ 𝑥 �ky� /2
𝑥 ̸= 𝑦 =⇒ (𝑥 + 1)(𝑦 − 1) ̸= (𝑥 − 1)(𝑦 + 1)
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𝑎2 + 𝑏2 + 𝑐2 ≥ 𝑎𝑏 + 𝑎𝑐 + 𝑏𝑐 :  � �y� (𝑎)
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𝑎3 + 𝑎 = 𝑏3 + 𝑏 ⇔ 𝑎 = 𝑏
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𝑥
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4
3

√
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√
2𝑥 + 2 −

√
𝑥 = 1 ⇔ 𝑥 = 1 :  � �y� (𝑏)
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−1 ≺
𝑎 + 𝑏

1 + 𝑎𝑏
≺ 1 :  � �y�
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| 𝑥 − 1 |≺

1
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⇔
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≺
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2
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